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E B. TEEI'I. VII - SE]‘W‘I (BHCI'E.I Exam., Fch.-March - 2021
~ Electronics & qmmunication Engincering
7EC4A Wireless Communication

Time: 2 Hours | Maxlmum Marks: 48
www.ersahilkagyan.com Min, PPassing Marks: 15

Instructions 10 Candidates:
Attempt three questions, selecting one question each from any three unit. Al
Questions carry equal marks. Schematic diagrams must be shown wherever
necessary. Any data yon feel missing suitably be assumed and stated clearly. Units
of quantities used/ calculused must be stated clearl ¥,

Use of following supporting material is permitied during examination.
(Mentioned in form Nn.205)
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UNIT- I
Q.1 (a) Explain the DSSS, with binary phase shift keying pnd compare its performance
with FHSS, & =20 1%
(b) Write the properties of PN sequence,, If the chip rate of a D555 transymitier is
20Mbps, the message bit rate is 10 kbps. Find out the processing gain achicved, if
bpsk is used. 'rh.': i fo= T_"ﬁ.'_...- [240=K|
- OR e

9}‘4 Explain 1FH55 with basic block diagram and find the expression for pr:}cﬁ:-.ing
_ TR~ 1 T
gain (Gp) in fast and slow, sysicms. foocnivg gt I—%._ / % <l |

(b) Explain the properties of, spreading_codes. How arc L']"-'" generated?, E’i“nL
explain. I8]
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Q.2 (a) Explain the transmitter and reee? iv Bram of Microwave link. [R]
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{b) Explain the concept 0 diffracti Action of path difference around an
obstruction by Fresnel zones-

oR 18]
_ cite e tign 1. _
02 (@) Explain sguall scale fadjng and ¥ - " dsperion parameters. 18]

- : a 100w :
(b) Assume a receiver is 20 km from Yransmitter, The carrier f eney i
ass - req
1000 MHz free space pmpagnimﬂ is %Umed, i,

UNIT-111

0.3 (a) Explain the TDMA principle of operRion with TOMAITDD example. Write its

=l and G, = 3. Find the power at

the receiver. 18]

advantages and disadvantages and- efficiency. Also, compare FOMA with

~TDMA. [8+2=10)

(b) If a normal GSM time slot consists of 6 trailing bits, 8.25 guard bits, 26 training

e ——

bits and 2 traffic bursts of 61 bits of data, find the frame efficiency. i6]

OR
M/:ﬁ:ﬂy explain thﬂ]ean_pmhlnm in bollluplink and downlink of CDMA. {6}
(b) Explain the CDMA principle of operation with jts advantages and disadvantages.,

Which type of Handoffs occur in COMA mobile systems?, (10]
1{-___.____'_,_.._,_—-"-_
UNIT-1V
Q4 (a) Explain the process of speech coding in GSM, (6]
() Define Handoff and Handovers in O5M. (6}
lo
(c) Compare WiFi and WiMax TechPO0BY: )
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